

Fibonacci Functional Sequence Generating Functions

A. G. Shannon

Warrane College, The University of New South Wales
PO Box 123, Kensington, NSW 2033, Australia
E-mail: tshannon@gmail.com

Abstract:

The purpose of this paper is to generalize some results of Horadam and to extend some identities due to Carlitz in the context of functional difference equations and their associated generating functions.

Keywords: Recurrence relation, functional difference equation, generating function, Fibonacci numbers, Lucas numbers, Simson's identity.

AMS Classifications: 11B39

1. Introduction

In a previous paper [1] a functional difference equation was defined in order to generalize aspects of Horadam's generalized sequence of numbers, $\{w_n(a,b;p,q)\}$, defined by the second order linear homogeneous recurrence relation

$$w_n = pw_{n-1} - qw_{n-2}, \quad n > 2. \quad (1.1)$$

with initial conditions $w_0 = a, w_1 = b$ [2] with fundamental properties [3,4]. The element of the functional difference equation in question is defined as

$$w_n(x) = \sum_{k=0}^{\infty} w_{n+k} \frac{x^k}{k!}, \quad (n = 0, 1, 2, \dots), \quad (1.2)$$

so that we get the differential equation

$$\frac{d}{dx} w_n(x) = w_{n+1}(x), \quad (1.3)$$

and the difference equation

$$w_n(x) = pw_{n-1}(x) - qw_{n-2}(x), \quad n > 2. \quad (1.4)$$

The purpose of this note is to extend this to generating functions which is done in Section 3 after some preliminary notational clarifications in Section 2 where the functional sequence generating function is defined by

$$w_n^*(x) = w_n^*(x, \lambda) = \sum_{k=0}^{\infty} w_{n+k} \binom{x}{k} \lambda^k \quad (1.5)$$

and

$$w_k^*(x, y) = \sum_{n=0}^{\infty} (w_n^*(x))^k y^n = \sum_{n=0}^{\infty} w_n^{*k}(x) y^n, \quad (1.6)$$

which is slightly more general than that studied by Carlitz [5], which is itself a generalization of the results of Elmore [6]. The general term of $\{w_n(a, b; p, q)\}$ is well known:

$$w_n = A\alpha^n + B\beta^n \quad (1.7)$$

where α, β are the zeroes of $x^2 - px + q$ and $p = \alpha + \beta, q = \alpha\beta, d = \alpha - \beta, E = pab - qa^2 - b^2$ and from the initial conditions

$$A = \frac{b - a\beta}{d}, B = \frac{a\alpha - \beta}{d},$$

so that

$$E = ABd^2. \quad (1.8)$$

The result in this note then follows from Carlitz' method for finding the k^{th} power generating function of a second order recursive sequence [7], which was generalized by the present writer [8]. In order to investigate factorizations, Brillhart *et al* [9] built on the well-known identity connecting the Fibonacci and Lucas, namely,

$$F_{2n} = F_n L_n;$$

Shannon *et al* [10] considered a type of functional analogue of this in the form

$$f(2 - x^2) = f(x)f(-x).$$

Other aspects of Fibonacci functional equations, particularly stability issues, may be found in Lather and Singh [11], Parizi and Gordji [12], Hyers and Rassias [13].

2. Notational Preliminaries

Now from (1.2) and (1.5) we further define

$$\begin{aligned}
 w_n(x) &= \sum_{k=0}^n (A\alpha^{n+k} + B\beta^{n+k}) \frac{x^k}{k!} \\
 &= A\alpha^n e^{\alpha x} + B\beta^n e^{\beta x}.
 \end{aligned}$$

It follows immediately that

$$\begin{aligned}
 \sum_{k=0}^{\infty} w_{n+k}(x) \frac{y^k}{k!} &= \sum_{k=0}^{\infty} (A\alpha^{n+k} e^{\alpha x} + B\beta^{n+k} e^{\beta x}) \frac{y^k}{k!} \\
 &= A\alpha^n e^{\alpha(x+y)} + B\beta^n e^{\beta(x+y)} \\
 &= w_n(x+y).
 \end{aligned}$$

Methods of solving functional difference equations may be found in Shannon *et al* [14]. We can also define

$$w_n^*(x) = w_n^*(x, \lambda) = \sum_{k=0}^{\infty} w_{n+k} \binom{x}{k} \lambda^k \tag{2.1}$$

As previously stated in (1.5). Then

$$w_n^*(0) = w_n,$$

and

$$\begin{aligned}
 w_{n+1}^* &= \sum_{k=0}^{\infty} w_{n+k+1} \binom{x}{k} \lambda^k \\
 &= \sum_{k=0}^{\infty} (pw_{n+k} - qw_{n+k-1}) \binom{x}{k} \lambda^k \\
 &= pw_n^*(x) - qw_{n-1}^*(x)
 \end{aligned} \tag{2.2}$$

as expected. Moreover, from (2.1) we can define a functional operator:

$$\begin{aligned}
 \Delta_x w_n^*(x) &= w_n^*(x+1) - w_n^*(x) \\
 &= \sum_{k=0}^{\infty} w_{n+k} \left\{ \binom{x+1}{k} - \binom{x}{k} \right\} \lambda^k \\
 &= \lambda \sum_{k=1}^{\infty} w_{n+k} \binom{x}{k-1} \lambda^{k-1} \\
 &= \lambda \sum_{k=0}^{\infty} w_{n+k+1} \binom{x}{k} \lambda^k
 \end{aligned}$$

so that

$$\Delta_x w_n^*(x, \lambda) = \lambda w_{n+1}^*(x, \lambda) \tag{2.3}$$

which shows that the power series in the definition (2.1) converges for sufficiently small λ . We now formally define

$$w_k^*(x, y) = \sum_{n=0}^{\infty} (w_n^*(x))^k y^n = \sum_{n=0}^{\infty} w_n^{*k}(x) y^n, \quad (2.4)$$

as in (1.6), so that

$$w_k^*(0, y) = w_k(y),$$

the properties of which have been studied by Horadam [15]. We shall also utilize a_{kj} defined by Carlitz [7] as

$$\begin{aligned} \sum_{k=2j}^{\infty} a_{k,j} x^{k-2j} &= \left(\frac{1}{1-px+qx^2} \right)^j \\ &= \left(\frac{w_0(x)}{a+(b+pa)x} \right)^j. \end{aligned} \quad (2.5)$$

3. Functional Sequence Generating Function

Following another idea of Carlitz, we also consider $W^*(x, z)$ defined as

$$W^*(x, z) = \sum_{k=1}^{\infty} (1-\alpha^k y)(1-\beta^k y) w_k^*(x, y) \frac{z^k}{k}. \quad (3.1)$$

Then

$$\begin{aligned} W^*(x, z) &= \sum_{k=1}^{\infty} (1-\alpha^k y)(1-\beta^k y) w_k^*(x, y) \frac{z^k}{k} \\ &= \sum_{k=1}^{\infty} (1-\alpha^k y)(1-\beta^k y) \frac{z^k}{k} \sum_{j=0}^{\infty} (w_j^*(x))^k y^j \\ &= \sum_{k=1}^{\infty} (1-(\alpha^k + \beta^k)y + q^k y^2) \frac{z^k}{k} \sum_{j=0}^{\infty} (w_j^*(x))^k y^j \\ &= -\sum_{j=0}^{\infty} y^j \log(1-w_j^*(x)z) + \sum_{j=0}^{\infty} y^{j+1} \log(1-\alpha w_j^*(x)z) + \sum_{j=0}^{\infty} y^{j+1} \log(1-\beta w_j^*(x)z) \\ &\quad - \sum_{j=0}^{\infty} y^{j+2} \log(1-q w_j^*(x)z) \\ &= -\log(1-w_0^*(x)z) + y \log(1-q w_{-1}^*(x)z) - y \sum_{j=0}^{\infty} y^j \log(1-w_{j+1}^*(x)z) \\ &\quad - y \sum_{j=0}^{\infty} y^j \log(1-q w_{j-1}^*(x)z) + \sum_{j=0}^{\infty} y^{j+1} \log(1-p w_j^*(x)z + q w_j^{*2}(x)z^2) \end{aligned}$$

From equation (4.1) in [1], we have a generalization of Simson's identity:

$$w_{j+1}^*(x)w_{j-1}^*(x) = w_j^{*2}(x) + q^{j-1}EE_w^x \tag{3.2}$$

in which

$$E_w = 1 + p\lambda + q\lambda^2, \tag{3.3}$$

and ‘ E ’ (in 1.6) and ‘ E_w ’ (in 3.3) turn out to be fortuitous choices of symbols because in the subsequent results they have a role somewhat analogous to the exponential function. Leonard Carlitz and Alwyn Horadam were both well known for the serendipity of their development of appropriate notation to suggest elegant analogies.

It follows that

$$(1 - w_{j+1}^*(x)z)(1 - z) = 1 - pw_j^*(x)z + (qw_j^{*2}(x) + q^jEE_w^x)z^2, \tag{3.4}$$

because

$$\begin{aligned} (1 - w_{j+1}^*(x)z)(1 - qw_{j-1}^*(x)z) &= 1 - (w_{j+1}^*(x)z + qw_{j-1}^*(x)z) + q(w_{j+1}^*(x)w_{j-1}^*(x)z)^2 \\ &= 1 - (pw_j^*(x)z) + (qw_j^{*2}(x) + q^jEE_w^x)z^2. \end{aligned}$$

Thus

$$\begin{aligned} W^*(x, z) &= -\log(1 - w_0^*(x)z) + y \log(1 - w_{-1}^*(x)z) - y \sum_{j=0}^{\infty} y^j \log \left(1 + \frac{q^j EE_w^x z^2}{1 - pw_j^*(x)z + qw_j^{*2}(x)z^2} \right) \\ &= -\log(1 - w_0^*(x)z) + y \log(1 - w_{-1}^*(x)z) - y \sum_{j=0}^{\infty} y^j \sum_{s=1}^{\infty} \frac{(-1)^s}{s} \left(\frac{q^j EE_w^x z^2}{1 - pw_j^*(x)z + qw_j^{*2}(x)z^2} \right) \\ &= -\log(1 - w_0^*(x)z) + y \log(1 - w_{-1}^*(x)z) - y \sum_{j=0}^{\infty} y^j \sum_{s=1}^{\infty} \frac{(-1)^s q^{js} E_w^{xs}}{s} z^{2s} \sum_{k=2s}^{\infty} a_{ks}(w_j^*(x)z)^{k-2s} \\ &= -\log(1 - w_0^*(x)z) + y \log(1 - w_{-1}^*(x)z) - y \sum_{j=0}^{\infty} y^j \sum_{k=1}^{\infty} z^k \sum_{s=1}^{\lfloor \frac{k}{2} \rfloor} \frac{(-E)^s q^{js} E_w^{xs}}{s} \sum_{k=2s}^{\infty} a_{ks}(w_j^*(x)z)^{k-2s} \\ &= -\log(1 - w_0^*(x)z) + y \log(1 - w_{-1}^*(x)z) - y \sum_{k=1}^{\infty} z^k \sum_{s=1}^{\lfloor \frac{k}{2} \rfloor} \frac{(-E)^s q^{js} E_w^{xs} a_{ks} W_{k-2s}^*(x, q^s y)}{s}. \end{aligned}$$

Comparing coefficients of z^k we get

$$(1 - v_k y + q^k y^2) W_k^*(x, y) = w_0^{*k}(x) - yq^k w_{-1}^{*k}(x) + ky \sum_{s=1}^{\lfloor \frac{k}{2} \rfloor} \frac{(-E)^s E_w^{xs} a_{ks} W_{k-2s}^*(x, q^s y)}{s}, \tag{3.5}$$

where

$$v_k = \alpha^k + \beta^k$$

is a Lucas primordial number. When $x = 0$, (3.4) reduces to

$$(1 - v_k y + q^k y^2) w_k(y) = a^k - y^k (pa - b)^k + ky \sum_{s=1}^{\lfloor \frac{k}{2} \rfloor} \frac{(-E)^s a_{ks} w_{k-2s}(q^s y)}{s},$$

which agrees with equation (33) of Horadam [2], since E_w disappears when x is zero. It should also be possible to develop an extension of a Pythagorean theorem for $w_n^*(x)$ [16].

4. Concluding Comments

Carlitz [17], Larcombe *et al* [18] and Atanassov *et al* [19] have also considered the arithmetic properties of other sequences. Hung *et al* [20] and Mangel [21;22] have applications of functional difference equations in medicine and biology. A bonus is that it is only a small step from the results in [1] to some interesting student projects [23]. We conclude, however, with a generalization of the functional difference equation which suggests further extensions along the lines of the preceding sections. From equations (2.3) and (2.4):

$$\begin{aligned} w_n^*(x) &= \sum_{k=0}^{\infty} \left\{ A \alpha^n \binom{x}{k} (\alpha \lambda)^k + B \beta^n \binom{x}{k} (\beta \lambda)^k \right\} \\ &= A \alpha^n (1 + \lambda \alpha)^x + B \beta^n (1 + \lambda \beta)^x. \end{aligned} \tag{4.1}$$

Similarly then,

$$\begin{aligned} w_n^*(x + y) &= A \alpha^n (1 + \lambda \alpha)^{x+y} + B \beta^n (1 + \lambda \beta)^{x+y} \\ &= \sum_{k=0}^{\infty} \left\{ A \alpha^{n+k} \binom{x}{k} (\alpha \lambda)^k + B \beta^{n+k} \binom{x}{k} (\beta \lambda)^k \right\} \\ &= \sum_{k=0}^{\infty} w_{n+k}^*(x) \binom{y}{k} \lambda^k, \end{aligned} \tag{4.2}$$

the last factor of which is missing from the comparable equation (3.3) of Carlitz [24]. Furthermore, if we generalize the results from the second order cases to arbitrary order r , we obtain

$$w_n^*(x) = w_n^*(x, \lambda) = \sum_{k=0}^{\infty} w_{n+k}^{(r)} \binom{x}{k} \lambda^k$$

where

$$w_n^*(0) = w_n^{(r)} = \sum_{k=0}^{\infty} (-1)^k P_{r,n-k+1} w_k^{(r)},$$

in which the $P_{r,k}$ are arbitrary integers, then the arbitrary order extensions of (4.2) can be given by

$$\begin{aligned}w_n^*(x+y) &= \sum_{k=0}^{\infty} w_{n+k}^*(x) \binom{y}{k} \lambda^k \\ &= \sum_{j=0}^{\infty} \sum_{k=0}^{\infty} w_{n+j+k}^{(r)} \binom{x}{j} \binom{y}{k} \lambda^{j+k}\end{aligned}$$

and

$$\begin{aligned}w_n^*(x+y+z) &= \sum_{k=0}^{\infty} w_{n+k}^*(x+y) \binom{z}{k} \lambda^k \\ &= \sum_{i=0}^{\infty} \sum_{j=0}^{\infty} \sum_{k=0}^{\infty} w_{n+i+j+k}^{(r)} \binom{x}{i} \binom{y}{j} \binom{z}{k} \lambda^{i+j+k}\end{aligned}$$

and so on. Similarly, this work could also be extended to explore analytic extensions in the complex plane [25].

Gratitude is expressed to an anonymous referee for meticulous comments on the initially submitted paper.

References

1. Shannon, A.G., and Kenny Pruitt. 2017. "Functional difference equations." *International Journal of Advances in Mathematics*. 2017 (5): 22-30.
2. Horadam, A.F. 1965. "Basic properties of a certain generalized sequence of numbers." *The Fibonacci Quarterly*. 3 (3): 161-176.
3. Horadam, A.F. 1967. "Special properties of the sequence $\{w_n(a,b;p,q)\}$." *The Fibonacci Quarterly*. 5(5): 424-434.
4. Horadam, A.F. 1968. "Generalizations of two theorems of K. Subba Rao." *Bulletin of the Calcutta Mathematical Society*. 58 (1): 23-29.
5. Carlitz, L. 1964. "A functional-difference equation." *Duke Mathematical Journal*. 31 (4): 667-690.
6. Elmore, Merritt. 1967. "Fibonacci functions." *The Fibonacci Quarterly*. 5 (4): 371-382.
7. Carlitz, L. 1962. "Generating functions for powers of certain sequences of numbers." *Duke Mathematical Journal*. 29 (4): 521-537.
8. Shannon, A.G. 1974. "A method of Carlitz applied to the k^{th} power generating function for Fibonacci numbers." *The Fibonacci Quarterly*. 12 (3): 293-299.
9. Brillhart J., P.L. Montgomery and R.D. Silverman. (1988). "Tables of Fibonacci and Lucas factorizations." *Mathematics of Computation*. 50.181: 251-260.
10. Shannon, A.G.,R.P. Loh, R.S. Melham and A.F. Horadam. 1996. "A search for solutions of a functional equation." In G.E. Bergum, A.N. Philippou and A.F. Horadam (eds). *Applications of Fibonacci Numbers. Volume 6*. Dordrecht: Kluwer, pp.431-441.
11. Lather, Sushma, and Sandeep Singh. 2018. "Stability of Fibonacci Functional Equations." *Journal of Advances in Mathematics*. 14 (1): 7469-7474.

12. Parizi, N.N., and M.E. Gordji. 2014. "Hyers-Ulam stability of Fibonacci functional equations in modular functional spaces." *Journal of Mathematics and Computer Science*. 19 (1): 1-6.
13. Hyers, D.H., G. Isac and Themistocles M. Rassias. 1998. *Stability of Functional Equations in Several Variables*. Basel: Birkhäuser, pp.45-47.
14. Shannon, A.G., R.P. Loh, R.S. Melham and A.F. Horadam. 1996. "A search for solutions of a functional equation." In G.E. Bergum, A. N. Philippou and A. F. Horadam (eds.), *Applications of Fibonacci Numbers, Volume 6*, Dordrecht: Kluwer, pp.431-441.
15. Horadam, A.F. 1965. Generating functions for powers of a certain generalized sequence of numbers. *Duke Mathematical Journal*. 32 (3): 437-446.
16. Shannon, A.G., and A.F. Horadam. 1971. A generalized Pythagorean theorem. *The Fibonacci Quarterly*. 9 (3): 307-312.
17. Carlitz, L. 1954. "Congruences for the solutions of certain difference equations of the second order." *Duke Mathematical Journal*. 21 (6): 669-679.
18. Larcombe, P.J., O.D. Bagdasar and E.J. Fennessey. 2013. "Horadam sequences: a survey." *Bulletin of the Institute of Combinatorics and its Applications*. 67: 49-71.
19. Atanassov, Krassimir T., Daryl R. Deford and Anthony G. Shannon. 2014. "Pulsated Fibonacci recurrences." *The Fibonacci Quarterly*. 52 (5): 22-27.
20. Hung, W.T., A.G. Shannon and B.S. Thornton. 1994. "The use of a second-order recurrence relation in the diagnosis of breast cancer." *The Fibonacci Quarterly*. 32 (3): 253-259.
21. Mangel, M. 1986. "Solution of a functional difference equation from behavioural theory." *Journal of Mathematical Biology*. 24 (5): 557-567.
22. Mangel, M. 1987. "Erratum." *Journal of Mathematical Biology*. 25 (2): 227.
23. Pruitt, Kenny and A.G. Shannon. 2018. "Modular class primes in the Sundaram sieve." *International Journal of Mathematical Education in Science and Technology*. 49 (6): 944-947.
24. Carlitz, L. 1970. "Some generalized Fibonacci identities." *The Fibonacci Quarterly*. 8 (3): 249-254.
25. Horadam, A.F. 1963. "Complex Fibonacci numbers." *American Mathematical Monthly*. 70 (3): 289-291.